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QUESTION 1

You are troubleshooting a connection which is being passed-through. An in-path rule to optimize it is 

present, both SteelHeads are working and not in admission control. You examine the logs and find: 

[intercept.WARN] asymmetric routing between 10.11.111.19:33262 and 10.11.25.23:5001 detected (no 

SYN/ACK) 

What is the reason for the asymmetry? 

A. Complete asymmetry 

B. SYN Retransmit 

C. Server-side asymmetry 

D. Client-side asymmetry 

E. Multi-SYN Retransmit 

Correct Answer: D 

 

QUESTION 2

What action is taken by the Interceptor if a connection does not match a configured load balance rule and the default
pool is empty? 

A. The connection is forwarded for auto-discovery. 

B. The connection is passed-through. 

C. The connection is rejected. 

D. The connection is reset. 

Correct Answer: B 

 

QUESTION 3

SteelHead SaaS can provide telemetry. What kind of integration with SteelCentral is possible? (Choose two.) 

A. SNMP v1, v2c and v3 

B. Netflow 

C. SteelFlow 

D. SNMP v1 monitoring 
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Correct Answer: C 

 

QUESTION 4

You can monitor your Steelhead appliance disk performance using which reports? (Select 2) 

A. Data Store Cost 

B. Data Store Performance 

C. Disk Load 

D. SDR Hit 

E. Disk Pressure 

F. Disk Alarm 

Correct Answer: AC 

 

QUESTION 5

Using an Interceptor appliance is an alternative to what network designs? (Select 2) 

A. WCCP 

B. PBR 

C. Connection Forwarding 

D. Fixed-target rules 

E. Peering rules 

Correct Answer: AB 
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